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62 | # [EtmRz 09| 002 12 0 7| #W |=F 47z kA (YT = A EDDP) 6 005 12 0
63 SN el AV S e 4] 0.02 12 0 8 | W |=hIVTY = (mraAS—)L) 4] 0.02 12 0
64 | B |EFTVUR—RETSL—]) 20( o0.01] 12 0 9 | i | asIN 40[ o0.01] 12 0
65 | M [BUExT= FAY 2| oo01f 12 0 10 | # [>Fan 300(  0.01| 12 0
66 | # [vVvTFHILT 20( o0.01] 12 0 1| & [F=prra—n 200( 0.01| 12 0
67 | i [ eXoy 50 0.02[ 12 0 12| % [~ezrzariFr 300(  0.01| 12 0
68 | i |74 7 m= 0.5 0.005| 12 0 13 | i [ZAr5=1 200( 0.02f 12 0
69 |mgipk| 7 ==r2F 4> (MEP) 10 0.02| 12 0 14 | B [~ RUR(SAP) 100 0.03| 12 0
70 | BE |72/ 7 L7 (BPMC) 30 o.01] 12 0 15| & [~vzarzarrFu 500(  0.01 12 0
71| # [ZxrFFr (MPP) 6| oo01f 12 0 16 | & (272100 30 0.03[ 12 0
72 | i |7 =2 b= —h (PAP) 7] 003 12 0
A EE A 10 o0.01] 12 0 B B FIR e K AE
74 | B |74 100| 0.02| 12 0 SRR AT 1 0.01 0.01 At
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